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=4Eлед=8ко< (=4Eлед=8к4<8) �4EтD4Eо64==о7о л8F4, EледуNI8е доку<е=тK (ук474==K9 пеDеGе=L <о6ет 5KтL EокD4Iе= 
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8/8л8 EлуG49=о7о оEтDо7о отD46ле=8O, о5EтоOтелLEт64 8E полуGе=8O, пол=K9 д847=о7, EDок8 леGе=8O, 
леGе5=Kе 8 д847=оEт8GеEк8е <еDопD8Oт8O:
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оDоD<лOе<K9 пеDе6о7G8ко< 6 уEт4=о6ле==о< 74ко=од4телLEт6е поDOдке.
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74кDеплONI8E до7о6оD=Kе пD46оот=оHе=8O <е6ду !тD4Eо64теле< 8 !тD4Eо6I8ко<, E6O74==Kе E 74клNGе=8е<, 
8Eпол=е=8е< 8л8 пDекD4Iе=8е< Mт8E пD46оот=оHе=89;

�D8 =4Eтупле=88 Eо5Kт8O E �4EтD4Eо64==K< л8Fо<, 8<еNI8< пD87=4к8 EтD4Eо6о7о EлуG4O, пDедуE<отDе==о7о 
�о7о6оDо< EтD4Eо64=8O, 6 теGе=8е 30 т8 D45оG8E д=е9 E <о<е=т4, ко7д4 е<у Eт4ло 876еEт=о о =4Eтупле=88 т4ко7о Eо5Kт8O, 
876еEт8тL !тD4Eо6I8к4 лN5K< доEтуп=K< е<у EпоEо5о<, по76олONI8< о5Jект86=о 74D8кE8Dо64тL D4кт о5D4Iе=8O. 
О5O74==оEтL !тD4Eо64телO Eоо5I8тL о D4кте =4Eтупле=8O опDеделе==о7о Eо5Kт8O E 74EтD4Eо64==K< л8Fо<, <о6ет 5KтL 
8Eпол=е=4 �K7одопD8о5Dет4теле<;

�лO полуGе=8O EтD4Eо6о9 6Kпл4тK пDедоEт468тL 6Eе =ео5Eод8<Kе доку<е=тK !тD4Eо6I8ку 6 Eоот6етEт688 E 
уEло68O<8 �Dо7D4<<K EтD4Eо64=8O.

!тD4Eо6I8к 8<еет пD46о: 
�Dо6еDOтL лN5K< =е 74пDеIе==K< 74ко=о< EпоEо5о< Eоо5I4е<уN !тD4Eо64теле< 8=DоD<4F8N, 6 то< G8Eле 

о Eоот6етEт688 6о7D4Eт4 8 EоEтоO=8O 7доDо6LO �4EтD4Eо64==о7о л8F4 E6еде=8O<, Eоо5Iе==K< !тD4Eо64теле<;
ОEп4D864тL де9Eт68телL=оEтL �о7о6оD4 EтD4Eо64=8O 6 EлуG4е =4DуHе=8O 8л8 =е=4дле64Iе7о 8Eпол=е=8O 

!тD4Eо64теле< поло6е=89 =4EтоOIе9 �Dо7D4<<K EтD4Eо64=8O 8л8 �ол8E4, 4 т4к6е 6 8=KE EлуG4OE, пDедуE<отDе==KE 
74ко=од4телLEт6о<  $;



�лO пD8=Oт8O DеHе=8O о EтD4Eо6о9 6Kпл4те пDо6од8тL MкEпеDт87у пDедEт46ле==KE доку<е=то6, 
E4<оEтоOтелL=о 6KOE=OтL пD8G8=K 8 о5EтоOтелLEт64 EтD4Eо6о7о EлуG4O, =4пD46лOтL, пD8 =ео5Eод8<оEт8, 74пDоEK 6 
ко<пете=т=Kе оD74=K о5 о5EтоOтелLEт64E =4Eтупле=8O EтD4Eо6о7о EлуG4O;

�отDе5о64тL пD87=4=8O �о7о6оD4 EтD4Eо64=8O =еде9Eт68телL=K<, еEл8 !тD4Eо64телL (�4EтD4Eо64==ое л8Fо) 
Eоо5I8л !тD4Eо6I8ку 746едо<о ло6=Kе 8л8 =едоEто6еD=Kе E6еде=8O о D4кт4E, 6л8ONI8E =4 уEт4=о6ле=8е Eтепе=8 D8Eк4 
=4Eтупле=8O EтD4Eо6о7о Eо5Kт8O, пDедуE<отDе==о7о �о7о6оDо< EтD4Eо64=8O;

ОEуIеEт6лOтL о5D45отку пеDEо=4лL=KE д4==KE !тD4Eо64телO (�4EтD4Eо64==о7о л8F4) 6 FелOE 8Eпол=е=8O 
�о7о6оD4 EтD4Eо64=8O, пDедоEт46ле=8O �4EтD4Eо64==о<у л8Fу (!тD4Eо64телN) 8=DоD<4F88 о EтD4Eо6KE пDодукт4E 
!тD4Eо6I8к4 8 о пDодукт4E (уEлу74E) е7о п4Dт=UDо6, 6 то< G8Eле путU< оEуIеEт6ле=8O E �4EтD4Eо64==K< л8Fо< 
(!тD4Eо64теле<) пDO<KE ко=т4кто6 E по<оILN EDедEт6 E6O78, 4 т4к6е 6 8=KE FелOE, =е 74пDеIU==KE 74ко=од4телLEт6о<  $;

�о Eо7л4Eо64=8N Eо !тD4Eо64теле< 6=еEт8 87<е=е=8O 6 �о7о6оD EтD4Eо64=8O 6 поDOдке, пDедуE<отDе==о< 
де9Eт6уNI8< 74ко=од4телLEт6о<. � EлуG4е еEл8 =е 5удет доEт87=уто Eо7л4Hе=8е по по6оду 6=еEе=8O 87<е=е=89, к46д4O 
EтоDо=4 до7о6оD4 8<еет пD46о потDе5о64тL D4EтоD6е=8O �о7о6оD4 EтD4Eо64=8O по оE=о64=8O<, пDедуE<отDе==K< 
де9Eт6уNI8< 74ко=од4телLEт6о<  $.

�еDе=еEт8 EDок пD8=Oт8O DеHе=8O о 6Kпл4те 8л8 о5 отк47е 6 6Kпл4те, =о =е 5олее Gе< =4 45 D45оG8E д=е9, длO 
пDо6еде=8O MкEпеDт87K пDедоEт46ле==KE доку<е=то6 8 E6еде=89, 6 EлуG4е еEл8 пDедоEт46ле==Kе доку<е=тK 8 E6еде=8O =е 
по76олONт уEт4=о68тL D4кт =4Eтупле=8O Eо5Kт8O, EодеD64т пDот86оDеG86уN 8=DоD<4F8N 8л8 6K7K64Nт Eо<=е=8O 6 8E 
доEто6еD=оEт8, 4 т4к6е 6 доEто6еD=оEт8 D4кт4 =4Eтупле=88 EтD4Eо6о7о Eо5Kт8O.

� Eло6=KE E8ту4F8OE, ко7д4 длO пD8=Oт8O DеHе=8O о 6Kпл4те тDе5уетEO 74клNGе=8е =е7468E8<о9 MкEпеDт87K 
по по6оду 74O6ле==о7о Eо5Kт8O, =4пD468тL �4EтD4Eо64==ое л8Fо =4 пDоEо6де=8е т4ко9 MкEпеDт87K 8 пDодл8тL EDок 
пD8=Oт8O DеHе=8O о 6Kпл4те 8л8 о5 отк47е 6 6Kпл4те до полуGе=8O Dе7улLт4то6 MкEпеDт87K.

�Eл8 длO пD8=Oт8O DеHе=8O =ео5Eод8<K Dе7улLт4тK =е74ко=Gе==о7о D4EEледо64=8O, пDо6од8<о7о 
ко<пете=т=K<8 оD74=4<8, пDодл8тL EDок пD8=Oт8O DеHе=8O о 6Kпл4те 8л8 о5 отк47е 6 6Kпл4те до око=G4=8O 
D4EEледо64=8O.

Отк474тL 6 EтD4Eо6о9 6Kпл4те, еEл8 !тD4Eо64телL (�4EтD4Eо64==ое л8Fо) пD8 74клNGе=88 �о7о6оD4 EтD4Eо64=8O 
пDедEт468л =едоEто6еD=Kе 8л8 746едо<о ло6=Kе E6еде=8O 8<еNI8е EуIеEт6е==ое 7=4Gе=8е длO опDеделе=8O 
6еDоOт=оEт8 =4Eтупле=8O EтD4Eо6о7о EлуG4O 8 D47<еD4 6о7<о6=KE у5Kтко6 от е7о =4Eтупле=8O.

'Eт4=46л864тL D4кт, 6KOE=OтL пD8G8=K 8 о5EтоOтелLEт64 пDо87оHедHе7о Eо5Kт8O, 74пD4H864O E6еде=8O 
(8=DоD<4F8N) 87 �д8=о7о 7оEуд4DEт6е==о7о DееEтD4 74п8Eе9 4кто6 7D46д4=Eко7о EоEтоO=8O.  е7улLт4тK ук474==KE 6 
=4EтоOIе< пу=кте E6еде=89 (8=DоD<4F88) 6 FелOE уEт4=о6ле=8O D4кт4, пD8G8= 8 о5EтоOтелLEт6 пDо87оHедHе7о Eо5Kт8O 
<о7ут оDоD<лOтLEO !тD4Eо6I8ко< 6 68де 4кт4 8 / 8л8 8=о7о доку<е=т4 (6 то< G8Eле 6 к4GеEт6е EоEт46=о9 G4Eт8 EтD4Eо6о7о 
4кт4), котоDK9 <о6ет 74<е=OтL Eо5о9 G4EтL доку<е=то6, док47K64NI8E =4Eтупле=8е EтD4Eо6о7о EлуG4O

!тD4Eо6I8к о5я74=: 
О5еEпеG8тL ко=D8де=F84лL=оEтL 8 5е7оп4E=оEтL пеDEо=4лL=KE д4==KE !тD4Eо64телO (�4EтD4Eо64==о7о л8F4), 

полуGе==KE от =е7о, пD8 8E о5D45отке.
�=DоD<8Dо64тL !тD4Eо64телO о5 уEло68OE EтD4Eо64=8O, 6 то< G8Eле путе< 6Kд4G8 EпеF84лL=KE 

8=DоD<4F8о==KE доку<е=то6, D47D45от4==KE 6 Eоот6етEт688 E тDе5о64=8O<8, уEт4=о6ле==K<8 де9Eт6уNI8< 
74ко=од4телLEт6о<, 6 т.G. оD74=о< EтD4Eо6о7о =4д7оD4;

ОEуIеEт6лOтL 8де=т8D8к4F8N !тD4Eо64телO 6 D4<к4E 8Eпол=е=8O 74ко=од4телLEт64 о пDот86оде9Eт688 
ле74л874F88 (от<K64=8N) доEодо6, полуGе==KE пDеEтуп=KE путе<, 8 D8=4=E8Dо64=8N теDDоD87<4, 6 то< G8Eле, путе< 
74пDоE4 8 полуGе=8O от !тD4Eо64телO =ео5Eод8<KE длO д4==о9 Fел8 доку<е=то6, 6 то< G8Eле, =о, =е о7D4=8G864OEL, 
доку<е=то6, удоEто6еDONI8E л8G=оEтL !тD4Eо64телO;

�D8 =4Eтупле=88 Eо5Kт8O, 8<еNIе7о пD87=4к8 EтD4Eо6о7о EлуG4O, пD8=OтL DеHе=8е о пD87=4=88 EлуG4O 
EтD4Eо6K< 8 оEуIеEт68тL 6Kпл4ту 8л8 отк474тL 6 6Kпл4те 6 теGе=8е 30 к4ле=д4D=KE д=е9 поEле полуGе=8O 6EеE доку<е=то6, 
=ео5Eод8<KE !тD4Eо6I8ку длO пD8=Oт8O DеHе=8O.

ОEо5Kе уEло68я
�4клNG4O �о7о6оD EтD4Eо64=8O =4 оE=о64=88 =4EтоOIе9 �Dо7D4<<K, !тD4Eо64телL подт6еD6д4ет, Gто 

!тD4Eо6I8к до 74клNGе=8O �о7о6оD4 EтD4Eо64=8O пDедоEт468л е<у 6 доEтуп=о9 DоD<е пол=уN 8=DоD<4F8N 
(пDедуE<отDе==уN п. 2.1.2 �47о6о7о Eт4=д4Dт4 74I8тK пD46 8 8=теDеEо6 D878GеEк8E 8 ND8д8GеEк8E л8F полуG4теле9 
D8=4=Eо6KE уEлу7, ок47K64е<KE Gле=4<8 E4<оDе7ул8Dуе<KE оD74=874F89, о5Jед8=ONI8E EтD4Eо6Kе оD74=874F88)

о5 уEло68OE, =4 котоDKE <о6ет 5KтL 74клNGе= �о7о6оD EтD4Eо64=8O, 6клNG4NI8E: о5Jект EтD4Eо64=8O, 
EтD4Eо6Kе D8Eк8, D47<еD EтD4Eо6о9 пDе<88, EтD4Eо6о9 Eу<<K 8 (8л8) поDOдок опDеделе=8O D47<еD4 EтD4Eо6о9 пDе<88, 
EтD4Eо6о9 Eу<<K, 4 т4к6е поDOдок оEуIеEт6ле=8O EтD4Eо6о9 6Kпл4тK (EтD4Eо6о7о 6о7<еIе=8O), 6 то< G8Eле пеDеGе=L 
доку<е=то6, котоDKе =ео5Eод8<о пDедEт468тL 6<еEте E 74O6ле=8е< о =4Eтупле=88 Eо5Kт8O, 8<еNIе7о пD87=4к8 EтD4Eо6о7о 
EлуG4O;

о5 о5EтоOтелLEт64E, 6л8ONI8E =4 D47<еD EтD4Eо6о9 пDе<88, о EпоEо54E 8 EDок4E (пеD8од8G=оEт8) упл4тK 
EтD4Eо6о9 пDе<88, поEледEт68OE =еупл4тK, упл4тK =е 6 пол=о< D47<еDе 8л8 =еE6ое6Dе<е==о9 упл4тK EтD4Eо6о9 пDе<88 
(EтD4Eо6KE 67=оEо6);

о пD8<е=Oе<KE EтD4Eо6о9 оD74=874F8е9 DD4=H874E 8 8EклNGе=8OE 87 пеDеG=O EтD4Eо6KE Eо5Kт89, 4 т4к6е о 
де9Eт68OE полуG4телO EтD4Eо6KE уEлу7, Eо6еDHе=8е котоDKE <о6ет по6леGL отк47 EтD4Eо6о9 оD74=874F88 6 EтD4Eо6о9 
6Kпл4те 8л8 EокD4Iе=8е ее D47<еD4;



о =4л8G88 допол=8телL=KE уEло689 длO 74клNGе=8O �о7о6оD4 EтD4Eо64=8O, 6 то< G8Eле о =ео5Eод8<оEт8 
пDо6еде=8O о5Eледо64=8O полуG4телO EтD4Eо6KE уEлу7 пD8 74клNGе=88 �о7о6оD4 EтD4Eо64=8O, 4 т4к6е о пеDеG=е 
доку<е=то6 8 8=DоD<4F88, =ео5Eод8<KE длO 74клNGе=8O �о7о6оD4 EтD4Eо64=8O;

о D47<еDе (пD8<еD=о< D4EGете) EтD4Eо6о9 пDе<88 =4 оE=о64=88 пDедEт46ле==о7о полуG4теле< EтD4Eо6KE уEлу7 
74O6ле=8O о 74клNGе=88 �о7о6оD4 EтD4Eо64=8O E у6едо<ле=8е< полуG4телO EтD4Eо6KE уEлу7 о 6о7<о6=о< 87<е=е=88 
D47<еD4 EтD4Eо6о9 пDе<88, EтD4Eо6о9 Eу<<K 8л8 8=KE уEло689 EтD4Eо64=8O по Dе7улLт4т4< оFе=к8 EтD4Eо6о7о D8Eк4;

о =4л8G88 уEло68O 6о76D4т4 !тD4Eо64телN упл4Gе==о9 EтD4Eо6о9 пDе<88 6 EлуG4е отк474 !тD4Eо64телO от 
�о7о6оD4 EтD4Eо64=8O 6 теGе=8е опDеделе==о7о EDок4 Eо д=O е7о 74клNGе=8O 8л8 о е7о отEутEт688 6 Eоот6етEт688 E 
де9Eт6уNI8< 74ко=од4телLEт6о<;

о EDок4E D4EE<отDе=8O о5D4Iе=89 полуG4теле9 EтD4Eо6KE уEлу7 от=оE8телL=о EтD4Eо6о9 6Kпл4тK, 4 т4к6е о 
EлуG4OE пDодле=8O т4к8E EDоко6 6 E6O78 E =ео5Eод8<оEтLN полуGе=8O 8=DоD<4F88 от ко<пете=т=KE оD74=о6 8 (8л8) 
EтоDо==8E оD74=874F89, =епоEDедEт6е==о E6O74==о9 E 6о7<о6=оEтLN пD8=Oт8O !тD4Eо6I8ко< DеHе=8O о пD87=4=88 
Eо5Kт8O EтD4Eо6K< EлуG4е< 8л8 о D47<еDе EтD4Eо6о9 6Kпл4тK;

о пD46е полуG4телO EтD4Eо6KE уEлу7 74пDоE8тL 8=DоD<4F8N о D47<еDе 6о7=47D46де=8O, 6Kпл4G864е<о7о 
EтD4Eо6о<у 47е=ту 8л8 EтD4Eо6о<у 5DокеDу;

о5 4дDеE4E <еEт пD8е<4 доку<е=то6 пD8 =4Eтупле=88 Eо5Kт89, 8<еNI8E пD87=4к8 EтD4Eо6о7о EлуG4O, 6 то< 
G8Eле о 6о7<о6=оEт8 пD8е<4 т4к8E доку<е=то6 6 MлектDо==о9 DоD<е.

�Eе п8EL<4 8 у6едо<ле=8O, =4пD46лOе<Kе !тD4Eо6I8ко< !тD4Eо64телN (�4EтD4Eо64==о<у л8Fу, 
�K7одопD8о5Dет4телN) 6 Eоот6етEт688 E �о7о6оDо< EтD4Eо64=8O, 74клNGе==K< =4 уEло68OE =4EтоOIе9 �Dо7D4<<K 
EтD4Eо64=8O, EG8т4NтEO =4пD46ле==K<8 =4дле64I8< о5D47о<, еEл8 о=8 =4пD46ле=K од=8< 87 EледуNI8E EпоEо5о6:

поGто6K< отпD46ле=8е< 8л8 =4DоG=о по 4дDеEу, ук474==о<у 6 �о7о6оDе EтD4Eо64=8O;
6 68де !�! Eоо5Iе=8O 8л8 Eоо5Iе=8O, Eо7д4==о7о E 8EполL7о64=8е< EеD68E4 о5<е=4 текEто6K<8 

Eоо5Iе=8O<8 (<еEEе=д6еDK, EоF84лL=Kе Eет8, 6клNG4O �ко=т4кте – , Од=окл4EE=8к8 – ok.ru), по телеDо==о<у 
=о<еDу (4дDеEу), ук474==о<у 6 �о7о6оDе EтD4Eо64=8O 8л8 8=о< доку<е=те (876еIе=8е, 74O6ле=8е =4 EтD4Eо6уN 6Kпл4ту, 
Eо7л4E8е =4 о5D45отку пеDEо=4лL=KE д4==KE 8 дD.);

6 68де MлектDо==о7о п8EL<4 по 4дDеEу MлектDо==о9 поGтK, ук474==о<у 6 �о7о6оDе EтD4Eо64=8O 8л8 6 8=о< 
доку<е=те (876еIе=8е, 74O6ле=8е =4 EтD4Eо6уN 6Kпл4ту, Eо7л4E8е =4 о5D45отку пеDEо=4лL=KE д4==KE 8 дD.);

E 8EполL7о64=8е< оD8F84лL=о7о E49т4 !тD4Eо6I8к4 (kaplife.ru) 8/8л8 <о58лL=о7о пD8ло6е=8O !тD4Eо6I8к4 
(К���&�Л LIFE).

� EлуG4е 87<е=е=8O 4дDеEо6 8/8л8 Dек6878то6 !тD4Eо64телL (�4EтD4Eо64==ое л8Fо, �K7одопD8о5Dет4телL) о5O7уетEO 
745л47о6Dе<е==о 876еEт8тL !тD4Eо6I8к4 о5 Mто<. �Eл8 !тD4Eо6I8к =е 5Kл 876еIе= о5 87<е=е=88 4дDеE4 8/8л8 Dек6878то6 
дDу7о9 EтоDо=K 745л47о6Dе<е==о, то 6Eе у6едо<ле=8O 8 876еIе=8O, =4пD46ле==Kе !тD4Eо64телN (�4EтD4Eо64==о<у л8Fу, 
�K7одопD8о5Dет4телN) по пDе6=е<у 876еEт=о<у 4дDеEу, 5удут EG8т4тLEO полуGе==K<8 E д4тK 8E поEтупле=8O по пDе6=е<у 
4дDеEу.

�оDядок D47DеHе=8я EпоDо6
!поDK по �о7о6оDу EтD4Eо64=8O <е6ду !тD4Eо6I8ко< 8 !тD4Eо64теле< D47DеH4NтEO путе< пеDе7о6оDо6, 4 

пD8 =е доEт86е=88 Eо7л4E8O – 6 поDOдке, пDедуE<отDе==о< 74ко=од4телLEт6о<  $.



�D8ло6е=8е № 1
к �Dо7D4<<е до5Dо6олL=о7о 8=д868ду4лL=о7о EтD4Eо64=8O 74е<I8ко6 ЭкEпDеEE № 2

&45л8F4 D47<еDо6 EтD4Eо6KE 6Kпл4т №3
(по EтD4Eо6о<у D8Eку «&елеE=Kе по6Dе6де=8я»)

!т4тLя Х4D4ктеD по6Dе6де=8я

 47<еD 
EтD4Eо6о9 

6Kпл4тK (6 % 
от EтD4Eо6о9 

Eу<<K)

�� ��АЯ !�!&��А
&O6елKе по6Dе6де=8O 7оло6=о7о <о774:

4)

уH85 7оло6=о7о <о774, EопDо6о6д46H89EO Eу54D4E=о8д4лL=K< кDо6о87л8O=8е<
потDе5о646H89 Eт4F8о=4D=о7о леGе=8O EDоко<
от 10 до 20 д=е9 (6клNG8телL=о)
21 де=L 8 5олее

5) 8л8 6=утD8GеDеп=Kе тD46<4т8GеEк8е 7е<4то<K: Mп8дуD4лL=4O, Eу5дуD4лL=4O, 
6=утD8<о77о64O, D47<о76е=8е, о7=еEтDелL=ое по6Dе6де=8е 6 пDедел4E од=о9 дол8

6) 8л8 D47<о76е=8е 6еIеEт64 7оло6=о7о <о774, о7=еEтDелL=ое по6Dе6де=8е 6 пDедел4E д6уE 
8 5олее доле9

7) 8л8 декоDт8к4F8N
&O6елое по6Dе6де=8е Eп8==о7о <о774 =4 лN5о< уDо6=е, ко=Eко7о E6оEт4:

4)

уH85, EопDо6о6д46H89EO Eу54D4E=о8д4лL=K< кDо6о87л8O=8е< , потDе5о646H89 
Eт4F8о=4D=о7о леGе=8O EDоко<:
от 10 до 20 д=е9 (6клNG8телL=о)
21 де=L 8 5олее

5) 8л8 Eд46ле=8е, 7е<4то<8ел8O
6) 8л8 G4Eт8G=K9 D47DK6
7) 8л8 пол=K9 пеDеDK6
�еDеDK6 =еD6о6 8 =еD6=KE Eплете=89 (Hе9=о7о, плеGе6о7о, поOE=8G=о7о, кDеEтFо6о7о):

4)

пол=K9 пеDеDK6 од=о7о =еD64: луGе6о7о, локте6о7о 8л8 EDед8==о7о =4 уDо6=е 
луGе74пOEт=о7о EуEт464 8 пDедплеGLO, <4ло5еDFо6о7о, 5олLHе5еDFо6о7о =еD64 
(=е7468E8<о от уDо6=O)
пеDеDK6 к46до7о поEледуNIе7о =еD64 допол=8телL=о

5)

8л8 пол=K9 пеDеDK6 од=о7о =еD64: подкDKлLFо6о7о (под<KHеG=о7о), луGе6о7о, локте6о7о 
8л8 EDед8==о7о =4 уDо6=е локте6о7о EуEт464 8 плеG4, Eед4л8I=о7о, 5едDе==о7о =еD64 (=4 
лN5о< уDо6=е
пеDеDK6 к46до7о поEледуNIе7о =еD64 допол=8телL=о

6) G4Eт8G=K9 D47DK6 од=о7о Eплете=8O
7) 8л8 пол=K9 пеDеDK6 (D47DK6) од=о7о Eплете=8O

О �А�/ � ���Я
(<4кE8<4лL=ое EтD4Eо6ое о5еEпеGе=8е пD8 по6Dе6де=88 од=о7о 7л474 50%, 6 т.G., еEл8 7л47 потеDO=, уд4ле=)

�Dо=8к4NIее (6 полоEтL 7л47=о7о O5лок4) D4=е=8е од=о7о 7л474 8/8л8 D4=е=8е  
Eле7опDо6одOI8E путе9, ко=ту78O 7л47=о7о O5лок4, 6K7646H4O D47DK6 е7о о5олоGек, о6о78 III 

III) Eтепе=8 (толLко пD8 ее ук474=88), 4тDоD8O (Eу54тDоD8O) по6Dе6де==о7о =еуд4ле==о7о 
7л47=о7о O5лок4 8/8л8 уд4ле=8е 7л47=о7о O5лок4, о5л4д46Hе7о 7Dе=8е< до тD46<K

�4D4л8G 4кко<од4F88 од=о7о 7л474, 6Kп4де=8е поло68=K 8 5олее полO 7Dе=8O (7е<84=опE8O), 
пулLE8DуNI89 Mк7оDт4лL< од=о7о 7л474, пеDеDK6 <KHF од=о7о 7л47=о7о O5лок4 (6 то< G8Eле, 
<KHF 6ек), тDе5уNI89 опеD4т86=о7о леGе=8O (6K7646H89: тD46<4т8GеEкое коEо7л478е 8/8л8 
д8плоп8N (д6ое=8е о5Jекто6), 6KD46е==K9 пто7 (опуIе=8е 6еDE=е7о 6ек4), 8EклNG4NI89 6 
о5KG=KE уEло68OE 7Dе=8е 6 пDO<о< =4пD46ле=88)

�D8 уEло688, Gто д847=о7 Eу54D4E=о8д4лL=о7о кDо6о87л8O=8O подт6еD6де= Eоот6етEт6уNI8<8 Dе7улLт4т4<8 8EEледо64=8O л8к6оD4.
!т4тLO =е пD8<е=OетEO пD8 Eт4F8о=4D=о< леGе=88 <е=LHе9 дл8телL=оEт8 8 пD8 4<5ул4тоD=о< леGе=88, =е7468E8<о от пD8G8=.



�о6Dе6де=8е 7л474, 6K764==ое 8< E8<п4т8GеEкое 6оEп4ле=8е =епо6Dе6де==о7о 7л474, =е6D8т 
7D8телL=о7о =еD64 6EледEт68е поD46е=8O =еD6=о9 E8Eте<K (74 8EклNGе=8е< уH854 7оло6K 8 
EотDOEе=8O 7оло6=о7о <о774), по6лекH8е 74 Eо5о9 по 8EтеGе=88 тDеE <еEOFе6 поEле тD46<K 
E=86е=8е оEтDотK 7Dе=8O 5е7 уGет4 коDDекF88 =е <е=ее, Gе< 6 д64 D474 (D47<еD EтD4Eо6о9 
6Kпл4тK ук474= 6 пDоFе=т4E от EтD4Eо6о9 Eу<<K):

ОEтDот4 7Dе=8O до тD46<K (5е7 
уGет4 коDDекF88

ОEтDот4 7Dе=8O по 8EтеGе=88 3 <еEOFе6 поEле тD46<K по 74клNGе=8N 6D4G4 EпеF84л8Eт4 
(5е7 уGет4 коDDекF88)

=86е 0,1

�D8<еG4=8O к Eт4тLе 6:
�Eл8 E6еде=8O о5 оEтDоте 7Dе=8O по6Dе6де==о7о 7л474 до тD46<K 6 <ед8F8=Eк8E доку<е=т4E по <еEту 

=45лNде=8O 74EтD4Eо64==о7о л8F4 отEутEт6уNт, то уEло6=о Eледует EG8т4тL, Gто о=4 5Kл4 т4ко9 6е, к4к =епо6Dе6де==о7о. 
Од=4ко, еEл8 оEтDот4 7Dе=8O =епо6Dе6де==о7о 7л474 ок46етEO =86е 8л8 D46=4 оEтDоте 7Dе=8O по6Dе6де==о7о, уEло6=о 
Eледует EG8т4тL, Gто оEтDот4 7Dе=8O по6Dе6де==о7о 7л474 EоEт46лOл4 1,0.

�Eл8 6 Dе7улLт4те тD46<K 5Kл8 по6Dе6де=K о54 7л474 8 E6еде=8O о5 8E 7Dе=88 до тD46<K отEутEт6уNт, Eледует 
уEло6=о EG8т4тL, Gто оEтDот4 7Dе=8O 5Kл4 D46=4 1,0.

� то< EлуG4е, еEл8 6 E6O78 E поEттD46<4т8GеEк8< E=86е=8е< оEтDотK 7Dе=8O 5Kл 8<пл4=т8Dо64= 
8EкуEEт6е==K9 EDуEт4л8к 8л8 пD8<е=ONтEO коDD878DуNI8е л8=7K, EтD4Eо6ое о5еEпеGе=8е 6Kпл4G864етEO E уGето< оEтDотK 
7Dе=8O до опеD4F88 8 5е7 уGет4 коDDекF88.

К пол=о9 Eлепоте (0,00) пD8D46=864етEO оEтDот4 7Dе=8O =86е 0,01 8 до E6етооIуIе=8O (EGет п4лLFе6 у л8F4).
!т4тLO 6 =е пD8<е=OетEO пD8 E=86е=88 оEтDотK 7Dе=8O 6 Dе7улLт4те E<еIе=8O (под6K68E4) 8EкуEEт6е==о7о 

(пDоте78Dо64==о7о) EDуEт4л8к4.
�D8G8==4O E6O7L E=86е=8O оEтDотK 7Dе=8O E GеDеп=о <о77о6о9 тD46<о9 уEт4=46л864етEO =4 оE=о64=88 

Eоот6етEт6уNIе7о 74клNGе=8O 6D4G4 окул8Eт4 (оDт4лL<оло74). �D8 Mто<, Eледует 8<етL 6 68ду, Gто E=86е=8е оEтDотK 
7Dе=8O 6EледEт68е уEудHе=8O DеDD4кF88 7л474 (пDо7DеEE8DуNIе9 5л87оDукоEт8 <8оп88 8л8 д4лL=о7оDкоEт8 
78пеD<етDоп88) к поEледEт68O< GеDеп=о <о77о6о9 тD46<K =е от=оE8тEO.

О �А�/ !Л'ХА
�о6Dе6де=8е уH=о9 D4ко68=K, по6лекHее 74 Eо5о9 потеDN 5олее Gе< 1/2 G4Eт8 уH=о9 
D4ко68=K
�о6Dе6де=8е 6 Dе7улLт4те тD46<K EDед=е7о уE4 8/8л8 EлуEо6о7о =еD64 E од=о9 EтоDо=K, 
по6лекHее 74 Eо5о9 по 8EтеGе=88 3 E <еEOFе6 поEле тD46<K, 6 Eоот6етEт688 E 74клNGе=8е< ЛО 
6D4G4, пол=уN 7луEоту (D477о6оD=4O DеGL – 0 <.):

�/ХА&�Л0�АЯ !�!&��А
&D46<4 7Dуд=о9 клетк8 8 ее оD74=о6, EопDо6о6д46H4OEO:

4)

по6Dе6де=8е< ле7ко7о (E пDоO6ле=8O<8 6 68де подко6=о9 M<D87е<K, п=е6<отоD4кE4, 
7е<отоD4кE4, MкEEуд4т86=о7о тD46<4т8GеEко7о пле6D8т4) E од=о9 EтоDо=K, 6 т.G. E 
поEледуNI8< дDе=8Dо64=8е< пле6D4лL=о9 полоEт8
E д6уE EтоDо=, 6клNG4O дDе=8Dо64=8е пле6D4лL=о9 полоEт8

5) 8л8 уд4ле=8е< дол8 ле7ко7о (ло5Mкто<8е9), G4Eт8 ле7ко7о (Dе7екF8N), еEл8 Mто =е 5Kло 
6K764=о 745оле64=8е<, D47686H8<EO 6=е E6O78 E тD46<о9

6) 8л8 уд4ле=8е< од=о7о ле7ко7о (пулL<о=Mкто<8е9), 6 т.G. E G4EтLN дDу7о7о, еEл8 Mто =е 
5Kло 6K764=о 745оле64=8е<, D47686H8<EO 6=е E6O78 E тD46<о9

�о6Dе6де=8O (D4=е=8O, о6о7) дKE4телL=KE путе9, I8то68д=о7о EDOI4, пеDело< подJO7KG=о9 
коEт8, по6лекH8е 74 Eо5о9 Eто9куN пол=уN потеDN 7олоE4, =оHе=8е тD4EеоEто<8GеEко9 
тDу5к8 6 теGе=8е =е <е=ее тDеE <еEOFе6 поEле тD46<K

!� ��Ч�О !О!'��!&АЯ !�!&��А
�о6Dе6де=8O EеDдF4, е7о о5олоGек, 4оDтK, ле7оG=о9, 5е7K<O==о9, Eо==KE 4DтеD89, 
6=утDе==е9 ODе<=о9, 6еDE=е9 8 =86=е9 полKE, 6оDот=о9 6е=, 8E кDуп=KE 6ет6е9, 
потDе5о646H8е опеD4т86=о7о леGе=8O: 

4) D4=е=8O EеDдF4 8 ук474==KE 6KHе EоEудо6, =е по6лекH8е 74 Eо5о9, 4 т4к6е по6лекH8е по 
8EтеGе=88 тDеE <еEOFе6 EеDдеG=о EоEуд8EтуN =едоEт4тоG=оEтL I, I II Eтепе=8

5) 8л8 по6лекH8е 74 Eо5о9 по 8EтеGе=88 тDеE <еEOFе6 поEле тD46<K, по 74клNGе=8N 



EпеF84л8Eт4, EеDдеG=о EоEуд8EтуN =едоEт4тоG=оEтL II, III (II III) Eтепе=8 
�о6Dе6де=8е Eо==о9, подклNG8G=о9, подкDKлLFо6о9 (под<KHеG=о9), плеGе6о9, локте6о9, 
луGе6о9, под67доH=о9, 5едDе==о9, подколе==о9, пеDед=е9 8 74д=е9 5олLHе5еDFо6KE 
4DтеD89, плеGе7оло6=о9, подклNG8G=о9, подкDKлLFо6о9 (под<KHеG=о9), 5едDе==о9, 
подколе==о9 6е=K E од=о9 EтоDо=K, 
4) 6 EлуG4е пеDе6O7к8 EоEудо6
6 EлуG4е опеD4т86=о7о 6оEEт4=о6ле=8O (6 т.G. пл4Eт8к8):
5) пD8 по6Dе6де=88 =4 уDо6=е пDедплеGLO, 7оле=8

6) пD8 по6Dе6де=88 =4 уDо6=е локте6о7о EуEт464, плеG4, =4дплеGLO (Hе8), коле==о7о 
EуEт464, 5едD4

О �А�/ ��Щ��А ���Я
�отеDO GелNEт8:
4) потеDO G4Eт8 GелNEт8, тDе5уNI4O пл4Eт8GеEко7о 6оEEт4=о6ле=8O GелNEт8
5) пол=4O потеDO GелNEт8
�отеDO O7Kк4:
4) отEутEт68е до 1/3 G4Eт8 O7Kк4, 6K7K64NIее =4DуHе=8е DеG8
5) 8л8 отEутEт68е от 1/3 до 2/3 O7Kк4
6) 8л8 отEутEт68е G4Eт8 O7Kк4 от 2/3 до пол=о7о 
�о6Dе6де=8е (D4=е=8е, D47DK6, 74 8EклNGе=8е< Eпо=т4==о7о, о6о7)  п8Iе6од4, 6елудк4, 
к8HеG=8к4, под6елудоG=о9 6еле7K, пеGе=8, 6елG=о7о пу7KDO, Eеле7е=к8, =е пD86едHее к 
G4Eт8G=о9 8л8 пол=о9 потеDе оD74=4 , подт6еD6де==ое пD8 опеD4т86=о< 6<еH4телLEт6е –
л4п4Dото<88, тоD4кото<88,: 

4)
од=о7о д6уE ук474==KE 6KHе оD74=о6 8л8 D4кт л4п4Dото<88, тоD4кото<88 6 E6O78 E 
тD46<о9 пD8 подо7Dе=88 =4 по6Dе6де=8е Mт8E оD74=о6, по6Dе6де=88 5оле7=е==о 
87<е=е==KE оD74=о6 

5) тDеE 8 5олее оD74=о6

6) D4кт опеD4т86=о7о 6<еH4телLEт64 (6<еH4телLEт6) по пDо6оду тD46<K 6 EлуG4е, еEл8 
по6Dе6де=8е оD74=о6 пD8 л4п4Dото<88, тоD4кото<88  =е подт6еDд8лоEL

&O6елKе поEледEт68O тD46<4т8GеEк8E 8 токE8GеEк8E поD46е=89 оD74=о6 п8Iе64Dе=8O, 
полуGе==KE 6 пеD8од де9Eт68O до7о6оD4 EтD4Eо64=8O: 
4) 7еп4т8т, пеGе=оG=4O =едоEт4тоG=оEтL 

5) Dу5Fо6ое Eу6е=8е (EтD8ктуD4), деDоD<4F8O п8Iе6од4, 6елудк4, к8HеG=8к4, 
74д=епDоEод=о7о от6еDEт8O по 8EтеGе=88 тDеE <еEOFе6 поEле тD46<K 

6)
=епDоEод8<оEтL п8Iе6од4 (пD8 =4л8G88 74EтDоEто<K), 8л8 EоEтоO=8е поEле опеD4F88 по 
по6оду =епDоEод8<оEт8 п8Iе6од4,   =4л8G8е пDот86оеEтеEт6е==о7о  74д=е7о  пDоEод4 
(колоEто<K) по 8EтеGе=88 тDеE <еEOFе6 поEле тD46<K

7) потеDO 6елG=о7о пу7KDO, потеDO G4Eт8 Dе7екF8O (5е7 ко=кDет=о7о ук474=8O ее D47<еD4)
6елудк4 8л8 к8HеG=8к4, под6елудоG=о9 6еле7K к46до7о оD74=4

д) потеDO G4Eт8 (Dе7екF8O) пеGе=8, потеDO G4Eт8 (до 2/3) 6елудк4 8л8 к8HеG=8к4 к46до7о 
оD74=4

е) потеDO Eеле7е=к8.

6) потеDO 5олее 2/3 6елудк4 8л8 к8HеG=8к4 (74 6KGето< EтD4Eо6о9 6Kпл4тK 6 E6O78 E 
пDедKдуIе9 Dе7екF8е9, еEл8 о=4 пDо6од8л4EL)

�ОЧ��/��Л�&�Л0�АЯ � �ОЛО�АЯ !�!&��/
&D46<K оD74=о6 поло6о9 8 <оGе6Kдел8телL=о9 E8Eте<K, EопDо6о6д46H8еEO:

4)
подк4пEулL=K< D47DK6о< поGк8, D4=е=8е<, D47DK6о< <оGе8EпуEк4телL=о7о к4=4л4 
8/8л8 <оGе6о7о пу7KDO (74 8EклNGе=8е< «Eпо=т4==о7о D47DK64»), <оGетоG=8ко6 
потDе5о646H8<8 опеD4т86=о7о леGе=8O 

5) потеDе9 G4Eт8 поGк8 (еEл8 Mто =е 6K764=о 745оле64=8е<, D47686H8<EO 6=е E6O78 E 
тD46<о9) 

6) потеDе9 поGк8 (еEл8 Mто =е 6K764=о 745оле64=8е<, D47686H8<EO 6=е E6O78 E тD46<о9) 
7) потеDе9 <4тоG=о9 тDу5K 8/8л8 од=о7о O8G=8к4, потеDе9 од=о7о O8Gк4

д) потеDе9 о5е8E <4тоG=KE тDу5, ед8=Eт6е==о9 <4тоG=о9 тDу5K 8/8л8 о5о8E O8G=8ко6, 
ед8=Eт6е==о7о O8G=8к4, потеDе9 о5о8E O8Gек 

е) потеDе9 <4тк8, 6 т. G. E пD8д4тк4<8, потеDе9 поло6о7о Gле=4 8л8 е7о G4Eт8, 6 т.G. E O8Gк4<8

6) D4кт опеD4т86=о7о 6<еH4телLEт64 (6<еH4телLEт6) по пDо6оду тD46<K 6 EлуG4е, еEл8 
по6Dе6де=8е оD74=о6 пD8 л4п4Dото<88, тоD4кото<88  =е подт6еDд8лоEL (еEл8 =е 

�4 8EклNGе=8е< 4лL6еолOD=о7о отDоEтк4 GелNEт8.
'д4ле=8е 6о 6Dе<O опеD4F88 по по6оду тD46<K 5оле7=е==о 87<е=е==о7о оD74=4 (6 E6O78 E е7о 745оле64=8е<, D47686H8<EO до тD46<K) к 

EтD4Eо6K< EлуG4O< =е от=оE8тEO, пD8<е=OетEO толLко Eт.15 «6».



пD8<е=OетEO Eт. 15 «6»)
&O6елKе оEло6=е=8O 8 поEледEт68O тD46<K, EлуG49=о7о оEтDо7о отD46ле=8O Eо EтоDо=K 
оD74=о6 <оGе6Kдел8телL=о9 E8Eте<K поGек, <оGетоG=8ко6, <оGе6о7о пу7KDO, 
<оGе8EпуEк4телL=о7о к4=4л4:
4) оEтD4O поGеG=4O =едоEт4тоG=оEтL, =е пеDеHедH4O 6 EDо=8GеEкуN
по 8EтеGе=88 тDеE <еEOFе6 поEле тD46<K:
5) у<е=LHе=8е о5Jе<4 <оGе6о7о пу7KDO
6) Eу6е=8е <оGетоG=8к4, <оGе8EпуEк4телL=о7о к4=4л4
7) оEтD4O поGеG=4O =едоEт4тоG=оEтL, пеDеHедH4O 6 EDо=8GеEкуN (допол=8телL=о)
д) =епDоEод8<оEтL <оGетоG=8к4, <оGе8EпуEк4телL=о7о к4=4л4
е) =4л8G8е <оGеполо6KE E68Iе9

�Я�К�� &КА��
О6о78 8л8 от<оDо6е=8O ко6=KE покDо6о6 I, I II Eтепе=8 (74 6KGето< плоI4д8 5олее тO6елKE 
о6о7о6 8 от<оDо6е=89, еEл8 о=8 5Kл8 полуGе=K):
4) о6о78 8л8 от<оDо6е=8O толLко I Eтепе=8  плоI4дLN E6KHе 10% по6еDE=оEт8 тел4
5) о6о78 8л8 от<оDо6е=8O I II Eтепе=8  плоI4дLN от 4  до 10% по6еDE=оEт8 тел4
6) о6о78 8л8 от<оDо6е=8O I II Eтепе=8  плоI4дLN E6KHе 10 8  до 20% по6еDE=оEт8 тел4.
7) о6о78 8л8 от<оDо6е=8O I II Eтепе=8  плоI4дLN E6KHе 20 8 до 30% по6еDE=оEт8 тел4
д) о6о78 8л8 от<оDо6е=8O I II Eтепе=8  плоI4дLN E6KHе 30 8  до 40% по6еDE=оEт8 тел4
е) о6о78 8л8 от<оDо6е=8O I II Eтепе=8  плоI4дLN E6KHе 40% по6еDE=оEт8 тел4
О5H8D=Kе D4=е=8O, D47DK6K  ко6=KE покDо6о6 8 подле64I8E 8< тк4=е9, о6о78 8л8 
от<оDо6е=8O III, IV Eтепе=8:
4) плоI4дLN от 0,5% до 1% по6еDE=оEт8 тел4
5) плоI4дLN E6KHе 1 8 до 2% по6еDE=оEт8 тел4
6) плоI4дLN E6KHе 2 8 до 5% по6еDE=оEт8 тел4
7) плоI4дLN E6KHе 5 8 до 10% по6еDE=оEт8 тел4
д) плоI4дLN E6KHе 10% по6еDE=оEт8 тел4

�D8<еG4=8O к Eт4тLO< 19, 20
�4 од8= пDоFе=т по6еDE=оEт8 тел4 пD8=8<4етEO плоI4дL л4до==о9 по6еDE=оEт8 к8Eт8 поEтD4д46Hе7о (6клNG4O  

пеD6K9 п4леF) 8л8 плоI4дL, D46=4O 150 E<
�D8 D4=е=8OE, D47DK64E, о6о74E, от<оDо6е=8OE ко6=KE покDо6о6 8 подле64I8E 8< тк4=е9 л8F4, пеDед=е

5око6о9 по6еDE=оEт8 Hе8, подGелNEт=о9 о5л4Eт8, пеDед=е9 по6еDE=оEт8 уH=KE D4ко68= III "�", "�" Eтепе=8, III "�", "�"
Eтепе=8 6 EоGет4=88 8л8 5е7 EоGет4=8O E 4=4ло78G=K<8 по6Dе6де=8O<8 дDу78E о5л4Eте9, D47<еD EтD4Eо6о9 6Kпл4тK 
опDеделOетEO по Eоот6етEт6уNIе<у подпу=кту Eт4тL8 20 8EEодO 87 о5Iе9 плоI4д8 о6о7о6 Eоот6етEт6уNIе9 тO6еEт8 8 
у<=о64етEO =4 коMDD8F8е=т 1,1. 

К D4=е=8O< 8 D47DK64< =е от=оEOтEO по6еDE=оEт=Kе по6Dе6де=8O ко6=KE покDо6о6 (по6Dе6де=8O =4Dу6=KE Eлое6 
ко68) – EE4д8=K, оE4д=е=8O, F4D4п8=K 8 т.п.

О6о7о6K9 Hок, о6о7о64O 5оле7=L
О�О �О ����А&�Л0�/� А��А А&

�ол=Kе пеD68G=Kе D47DK6K д6уE 8 5олее <KHF, EуEо68л89 (74 8EклNGе=8е< «Eпо=т4==KE»), 
еEл8 пDо6од8лоEL опеD4т86=ое леGе=8е ук474==KE по6Dе6де=89: 

4) пол=K9 D47DK6 (пол=ое по6Dе6де=8е) д6уE 8 5олее <KHF (74 8EклNGе=8е< <KHF, 
D8кE8DуNI8E лоп4тку), д6уE 8 5олее EуEо68л89, 8EклNG4O 4E8лло6о 

5) пол=K9 D47DK6 (пол=ое по6Dе6де=8е) 4E8лло64 EуEо68л8O, D47DK6 <KHF (<KHFK), 
D8кE8DуNI8E лоп4тку (<кDKло68д=4O лоп4тк4=) 

�ол=Kе пеD68G=Kе D47DK6K д6уE 8 5олее E6O7ок, E6O7ок д6уE 8л8 5олее EуEт46о6, EоGле=е=8O E 
6K68Eо< (под6K68Eо<) коEт8 (коEте9), E8=деE<о74, пол=Kе 6K68E8, еEл8 пDо6од8лоEL 
опеD4т86=ое леGе=8е ук474==KE по6Dе6де=89

4) 6 д6уE 8 5олее EуEт464E к8Eт8, EтопK (6клNG4O EуEт46K Л8EDD4=к4, (оп4D4), EоGле=е=8OE 
клNG8FK

5) 6 7оле=оEтоп=о<, плеGе6о<, локте6о<, луGе74пOEт=о< EуEт464E (6 т.G. 6 EоGет4=88 E 
EуEт464<8 87 пп. «4») 

6) 6 т47о5едDе==о<, коле==о< (6 т.G. 6 EоGет4=88 E EуEт464<8 87 пп. «4»), EоGле=е=8OE т474, 
EуEт464E по76о=оG=8к4

�еD68G=Kе пеDело<K, Mп8D87еол87K, пеDело<о 6K68E8 коEте9, =4Eтуп86H8е 6 Dе7улLт4те 
тD46<K, 4 т4к6е отделL=Kе 8=Kе по6Dе6де=8O опоD=о д6874телL=о7о 4пп4D4т4, еEл8 пD8 Mто< 
5Kло =ео5Eод8<о 8 пDо6од8лоEL EледуNIее леGе=8е: 

4) Eкелет=ое 6KтO6е=8е дл8телL=оEтLN =е <е=ее 2 =еделL 8/8л8 8<<о58л874F8O (78пEо6о9 
по6O7ко9 8л8 еU 4=4ло74<8, 4пп4D4то< 6=еH=е9 D8кE4F88, EпеF84лL=K< 

�4кDKтое 6пD46ле=8е 6K68Eо6, =е7468E8<о от 68д4 4=еEте788, 6KтO6е=8е (=е7468E8<о от 68д4) =е от=оE8тEO к опеD4т86=о<у леGе=8N.



H8=8Dо64=8е<), поEтелL=K9 Dе68< 6 Eт4F8о=4Dе – о5Iе9 дл8телL=оEтLN =е <е=ее 8 8 
до 16 =еделL
о5Iе9 дл8телL=оEтLN 16 =еделL 8 5олее

5)

=4коEт=K9 8 6=утD8коEт=K9 оEтеоE8=те7 <ет4лл8GеEк8<8 пл4Eт8=к4<8, Hт8Dт4<8 (8E 
ко<58=4F8O<8), коEт=4O пл4Eт8к4, 6 т.G. 6 EоGет4=88 E леGе=8е<, пDедуE<отDе==K< пп. 
«4»
=4 пOтоG=о9, т4D4==о9 коEт8, д6уE 8 5олее коEтOE пDедплNE=K, плNE=е6KE коEтOE, коEтOE 
7оле=8, плеGе, д6уE коEтOE пDедплеGLO (од=окD4т=о)
=4 5едDе, коEтOE т474, по76о=оG=8ке (од=окD4т=о)

6)

M=допDоте78Dо64=8е EуEт46о6 (к46до7о)
луGе74пOEт=о7о, 7оле=оEтоп=о7о
локте6о7о, плеGе6о7о, коле==о7о
т47о5едDе==о7о

7) леGе=8е, пDедуE<отDе==ое пп. «4», «5», «6» по по6оду о7=еEтDелL=KE 8/8л8 <8==о
67DK6=о7о E4D4ктеD4 по6Dе6де=89 (допол=8телL=о)

&D46<4т8GеEк4O 4<пут4F8O л85о тD46<4 6еDE=е9 ко=еG=оEт8, по6лекH4O 74 Eо5о9 ее 
4<пут4F8N =4 опDеделе==о< уDо6=е (пDеделL=K9 D47<еD EтD4Eо6о9 6Kпл4тK пD8 
<=о6еEт6е==KE по6Dе6де=8OE ко=еG=оEт8 до опDеделе==о7о уDо6=O, =е по6лекH8E 74 Eо5о9 
4<пут4F88):

4) =4 уDо6=е оE=о6=KE D4л4=7 8/8л8 пOEт=о D4л4=7о6KE EуEт46о6 тDеE GетKDеE  п4лLFе6 
к8Eт8

5) =4 уDо6=е оE=о6=KE D4л4=7 8/8л8 пOEт=о D4л4=7о6KE EуEт46о6  пOт8  п4лLFе6 к8Eт8, 
пOEт=KE коEте9, 74пOEтLO, луGе74пOEт=о7о EуEт464

6) =4 уDо6=е пDедплеGLO, локте6о7о EуEт464, плеG4
7) =4 уDо6=е лоп4тк8, клNG8FK.
&D46<4т8GеEк4O 4<пут4F8O л85о тD46<4 =86=е9 ко=еG=оEт8, по6лекH4O 74 Eо5о9 ее 
4<пут4F8N =4 опDеделе==о< уDо6=е (пDеделL=K9 D47<еD EтD4Eо6о9 6Kпл4тK пD8 
<=о6еEт6е==KE по6Dе6де=8OE ко=еG=оEт8 до опDеделе==о7о уDо6=O, =е по6лекH8E 74 Eо5о9 
4<пут4F88):
4) =4 уDо6=е плNE=е D4л4=7о6KE EуEт46о6 пOт8 п4лLFе6 EтопK, плNE=е6KE коEте9
5) =4 уDо6=е коEте9 пDедплNE=K, EуEт46о6 (оп4D4, Л8EDD4=к4
6) =4 уDо6=е т4D4==о9, пOтоG=о9 коEте9, 7оле=оEтоп=о7о EуEт464.
7) =4 уDо6=е 7оле=8, коле==о7о EуEт464
д) =4 уDо6=е 5едD4, т47о5едDе==о7о EуEт464, т474
�е<4тото7е==K9 оEтео<8ел8т
ОтделL=Kе оEло6=е=8O тD46<K:

4) E8=дDо< дл8телL=о7о D47д46л864=8O, Eд46ле=8O (тD46<4т8GеEк89 токE8ко7, кD4H
E8=дDо<, E8=дDо< D47<о76е=8O)

5) кл8=8GеEк4O E<еDтL
!луG49=ое оEтDое отD46ле=8е (6 т.G. еEл8 о=о =4Eтуп8ло 6 Dе7улLт4те укуEо6 Oдо68тKE 7<е9, 
<=о6еEт6е==KE укуEо6 пGел), <еE4=8GеEк4O 4ED8кE8O (удуHLе), поD46е=8е MлектDотоко<, 
4т<оEDеD=K< MлектD8GеEт6о< (<ол=8е9), Eтол5=Oк, 5отул87< пD8 =епDеDK6=о< леGе=88 21 
де=L 8 5олее

О5I8е пD8<еG4=8O к &45л8Fе D47<еDо6 EтD4Eо6KE 6Kпл4т № 3 (д4лее по текEту &45л8F4 №3
 еHе=8е о EтD4Eо6о9 6Kпл4те 8 ее D47<еDе пD8=8<4етEO E пD8<е=е=8е< &45л8FK №3 пD8 уEло688, Gто Mто 

пDедуE<отDе=о до7о6оDо< EтD4Eо64=8O. �лO пD8=Oт8O DеHе=8O �4EтD4Eо64==ое л8Fо (�K7одопD8о5Dет4телL) 8л8 
!тD4Eо64телL пDедEт46лOет EтD4Eо6I8ку по <еEту 74клNGе=8O до7о6оD4 EтD4Eо64=8O <ед8F8=Eк8е 8 8=Kе, ук474==Kе 6 
до7о6оDе EтD4Eо64=8O доку<е=тK. 

� <ед8F8=Eк8E доку<е=т4E дол6=K 5KтL ук474=K д4т4 8 о5EтоOтелLEт64 74O6ле==о7о EлуG4O (тD46<K 8 т.п.), 
пол=K9 д847=о7, 6Dе<O =4G4л4 8 око=G4=8O леGе=8O, Dе7улLт4тK д847=оEт8GеEк8E 8EEледо64=89 (Dе=т7е=о7D4D88, К&, � &, 
4=4л87о6 8 т.д.) 8 =4764=8O леGе5=KE <еDопD8Oт89. 

�D8 пеDело<4E 8 6K68E4E (под6K68E4E) коEте9, D47DK64E EоGле=е=89 (6клNG4O E8=деE<о7K) о5O74телL=K< 
уEло68е< пD8<е=е=8O Eоот6етEт6уNI8E Eт4те9 &45л8FK №3 O6лOетEO Dе=т7е=оло78GеEкое подт6еD6де=8е ук474==KE 
по6Dе6де=89.

�Eл8 6 Eоот6етEт688 E уEло68O<8 де9Eт6уNIе7о до7о6оD4 EтD4Eо64=8O 7е<4то7е==K9 оEтео<8ел8т от=оE8тEO к EтD4Eо6K< EлуG4O<.
К EлуG49=K< оEтDK< отD46ле=8O< =е от=оEOтEO:

4) 8=DекF8о==Kе 745оле64=8O, 6 т.G. токE8ко8=DекF88, =е7468E8<о от 68д4, пут8 74D46е=8O;
5) =4<еDе==ое отD46ле=8е E8<8GеEк8<8 6еIеEт64<8 (пD8 =4<еDе==о< употDе5ле=88,  =е7468E8<о от до7K),  6 т.G.  4лко7оле<, 8=K<8 
токE8GеEк8<8  8 =4Dкот8GеEк8<8 EDедEт64<8;
6) 4ллеD78O, =е7468E8<о от ее пDоO6ле=89.



�о6тоD=Kе пеDело<K (DеDD4ктуDK) од=о9 8 то9 6е коEт8, =4Eтуп86H8е 6 Dе7улLт4те тD46<K, полуGе==о9 6 пеD8од 
де9Eт68O до7о6оD4 EтD4Eо64=8O, д4Nт оE=о64=8е длO EтD4Eо6о9 6Kпл4тK толLко 6 то< EлуG4е, еEл8 =4 оE=о64=88 
пDедEт46ле==KE Dе=т7е=о7D4<< 5удут уEт4=о6ле=K: 1) ED4Iе=8е отло<ко6 коEт8 по око=G4=88 леGе=8O пDедKдуIе9 
тD46<K, 2) =4л8G8е =о6о9 л8=88 (л8=89) пеDело<4 коEт8 =4 Dе=т7е=о7D4<<4E, Eдел4==KE поEле по6тоD=о9 тD46<K. �D8 
Mто<, E<еIе=8е отло<ко6 коEт8 поEле по6тоD=о9 тD46<K по л8=88 (л8=8O<) D4=ее полуGе==о7о пеDело<4, 6 т.G. 6<еEте E 
по6Dе6де==K<8 8л8 =епо6Dе6де==K<8 ко=EтDукF8O<8, пD8<е=O6H8<8EO длO оEтеоE8=те74, E68детелLEт6ует о =е 
ED4Iе=88 отло<ко6 поEле пеD68G=о7о пеDело<4 8 =е д4ет оE=о64=89 длO EтD4Eо6о9 6Kпл4тK 6 E6O78 E пеDело<о<, 
поEколLку о= =4Eтуп8л до 74O6ле==о7о EлуG4O.

�Eл8 по6Dе6де=8е, поEледEт68O по6Dе6де=8O од=о7о оD74=4 (од=о7о 4=4то<8GеEко7о о5D47о64=8O), 
полуGе==Kе 74EтD4Eо64==K< л8Fо< 6 Dе7улLт4те од=о7о EлуG4O, пDедуE<отDе=о D47=K<8 Eт4тLO<8 «&45л8FK» 8л8 D47=K<8 
подпу=кт4<8 од=о9 Eт4тL8, D47<еD EтD4Eо6о9 6Kпл4тK опDеделOетEO по од=о9 Eт4тLе 8л8 од=о<у подпу=кту Eт4тL8, 
пDедуE<4тD864NI8< 6Kпл4ту 6 =485олLHе< D47<еDе. �EклNGе=8е< O6лOетEO EтD4Eо64O 6Kпл4т4 по Eт. 24 «7» &45л8FK №3, 
котоD4O пDо876од8тEO допол=8телL=о.

! FелLN утоG=е=8O д4==KE о EоEтоO=88 по6Dе6де==о7о оD74=4 у 74EтD4Eо64==о7о л8F4 до 8 поEле 
по6Dе6де=8O, EтD4Eо64телN <о6ет 5KтL пDедло6е=о полуG8тL Eоот6етEт6уNIее 74клNGе=8е 6D4G4 EпеF84л8Eт4. �D8 Mто< 
Eледует ко=кDет=о ук474тL, к4к8е д4==Kе =ео5Eод8<K длO пD8=Oт8O DеHе=8O.

'д4ле=8е, Dе7екF8O, 4<пут4F8O 6о 6Dе<O опеD4F88 по по6оду тD46<K 5оле7=е==о 87<е=е==о7о, 
8<пл4=т8Dо64==о7о 8л8 пDоте78Dо64==о7о до тD46<K оD74=4 к EтD4Eо6K< EлуG4O< =е от=оE8тEO. 

� то< EлуG4е, еEл8 поEле пDо876еде==о9 EтD4Eо6о9 6Kпл4тK 5удет пDедEт46ле=о =о6ое 74O6ле=8е 8 
<ед8F8=Eк8е доку<е=тK, д4NI8е оE=о64=8е длO EтD4Eо6о9 6Kпл4тK 6 E6O78 E те< 6е по6Dе6де=8е< 6 5олLHе< D47<еDе, 
D47<еD допол=8телL=о9 6Kпл4тK опDеделOетEO путе< 6KG8т4=8O D4=ее уEт4=о6ле==о7о D47<еD4 87 D47<еD4 опDеделе==о7о 
6=о6L. !тD4Eо64O 6Kпл4т4 6 E6O78 E тD46<о9 оD74=4, =е <о6ет пDе6KH4тL EтD4Eо6о9 6Kпл4тK, пDедуE<отDе==о9 6 EлуG4е 
потеD8 Mто7о оD74=4.

О5I89 D47<еD EтD4Eо6KE 6Kпл4т по D8Eку 6 E6O78 E од=8< 8л8 =еEколLк8<8 EтD4Eо6K<8 EлуG4O<8 =е <о6ет 
пDе6KH4тL 100% уEт4=о6ле==о9 до7о6оDо< EтD4Eо64=8O EтD4Eо6о9 Eу<<K, еEл8 8=ое =е пDедуE<отDе=о до7о6оDо< 
EтD4Eо64=8O.

&D46<K, теGе=8е котоDKE оEло6=е=о D47686H8<8EO до 74клNGе=8O до7о6оD4 EтD4Eо64=8O 745оле64=8O<8: 
E4E4D=K< д845ето< 8/8л8 о5л8теD8DуNI8< M=д4DтеD88то<, о5л8теD8DуNI8< 4теDоEклеDо7о<, =4DуHе=8O<8 8==еD64F88 
оD74=о6 8 т.д., д4Nт оE=о64=8е длO 6Kпл4тK 50% от D47<еD4 EтD4Eо6о9 6Kпл4тK, пDедуE<отDе==о9 &45л8Fе9 №3. �4==ое 
поло6е=8е =е пD8<е=OетEO 6 EлуG4OE, ко7д4 ук474==Kе 745оле64=8O л8HL O6лONтEO EопутEт6уNI8<8, т.е. =е 6л8ONт =4 
дл8телL=оEтL, теGе=8е пDоFеEE4 6оEEт4=о6ле=8O 8 E4D4ктеD поEледEт689 тD46<K.

�D8 п4толо78GеEк8E пеDело<4E 8 6K68E4E коEте9, EтD4Eо64O 6Kпл4т4 пDо876од8тEO толLко 6 то< EлуG4е, еEл8 
745оле64=8е, поEлу686Hее 8E пD8G8=о9, D4768лоEL, 5Kло 6пеD6Kе д847=оEт8Dо64=о 6 пеD8од де9Eт68O до7о6оD4 
EтD4Eо64=8O.  47<еD EтD4Eо6о9 6Kпл4тK пD8 Mто< у<е=LH4етEO =4 50% по ED46=е=8N E D47<еDо<, пDедуE<отDе==K< 
&45л8Fе9 №3 длO пеDело<о6 8 6K68Eо6 7доDо6KE коEте9 (6клNG4O 6Kпл4тK, E6O74==Kе E 8E леGе=8е<).

�еDеGе=L по6Dе6де=89 8 8E поEледEт689, пDедуE<отDе==K9 Eт4тLO<8 &45л8FK №3, D4EH8D8телL=о<у 
толко64=8N =е подле68т


